Lecture Notes



made by S.-W. Cheng (NTHU, Taiwan)



made by S.-W. Cheng (NTHU, Taiwan)

complement of A, then $P(A^c) = 1 - P(A)$. (3) Proof. A ^c UA = Ω, A ^c ∩ A = φ $I = P(\Omega) = P(A^c UA) = P(A^c) + P(A)$ by (2) • Proposition: If A and B are events in a sample space Ω and A ⊂ B, then $P(A) \le P(B)$ and $P(B - A) = P(B \cap A^c) = P(B) - P(A)$. Using $P(B) = P(A) + P(B \cap A^c) = P(B) \cap A^c$ = $P(B) - P(A)$. (3) (3) (3) (4) (4) (4) (4) (4) (4) (4) (4	
$I = P(R) = P(A \cup A) = P(A \cap A) + P(A) + p(A) + p(A)$ by (A = P(B) = P(B) = P(B) = P(B) = P(B) = P(B) = P(A). (USE IF A = A = A = A = A = A = A = A = A = A	
 Proposition: If A and B are events in a sample space Ω and A⊂B, then P(A) ≤ P(B) and P(B - A) = P(B ∩ A^c) = P(B) - P(A). UBEART Proof. B = A ∪ (B∩A^c) (by (Ax1)) P(B) = P(A) + P(B∩A^c) ≥ P(A) P(B) = P(A) + P(B∩A^c) ≥ P(A) P(B) = P(A) + P(B∩A^c) ≥ P(A) P(B) = P(A) + P(B∩A^c) ≥ P(A) P(B) = P(A) + P(B∩A^c) ≥ P(A) P(B) = P(A) + P(B∩A^c) ≥ P(A) P(B) = P(A) + P(B∩A^c) ≥ P(A) P(A) = M^a^a^b^a^b^a^c^A^a^b^a^b^a^b^a^b^b^a^b^b^a^b^b^b^b^a^b^b^b^b^b^b^b^b^b^b^b^b^b	
$ \begin{array}{c} \underline{t} \underline{t} \underline{t} \underline{b} \underline{t} \underline{b} \\ \underline{t} \underline{b} \underline{b} \\ \underline{b} \\ \underline{b} \\ \underline{b} \\ \underline{b} \\ \underline{b} \\ \underline{c} \\ \underline$	
興遇反核遊行。下面那一個比較可能? A ₁ • 琳達是銀行行員。A ₁ A ₁ • 琳達是銀行行員, A ₁ A ₁ A ₁ A ₂ • 琳達 <u>是銀行行員</u> , 也 <u>是活躍</u> 的女性主義運動者。 Proposition: If <u>A</u> is an event in a sample space Ω , then This is Axiom 1 in textbook • Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: $P(A \cup B) = P(I) + P(II)$ Proposition: $P(A \cap B) = P(I) + P(II)$ Prop	
A₁ • 琳達是銀行行員、A1 A₁OA2 • 琳達是銀行行員、也是活躍的女性主義運動者 • Proposition: If A is an event in a sample space Ω, then This is Axiom 1 $0 \le P(A) \le 1. = P(\Omega)$ & A ⊂ Ω • Proposition: If A and B are two events in a sample space Ω, then • Proposition: If A and B are two events in a sample space Ω, then • Proposition: If A and B are two events in a sample space Ω, then Proposition: If A and B are two events in a sample space Ω, then Proposition: If A and B are two events in a sample space Ω, then Proposition: If A and B are two events in a sample space Ω, then Proposition: If A and B are two events in a sample space Ω, then P(AUB) ≤ P(A) + P(B) - P(A ∩ B). Proof. A ∪ B = I ∪ II ∪ III and I. I. I. I. I. mutually exclusive Proof. A ∪ B = I ∪ I ∪ III and I. P(A) = P(I) + P(II) P(B) = P(I) + P(II) P(B) = P(I) + P(II) P(A) = P(I) + P(II) P(A) = P(I)	
AINA2 • 琳達 <u>是銀行行員</u> ,也 <u>是活躍</u> 的 <u>女性主義運動者</u> 。 Proposition: If <u>A</u> is an event in a sample space Ω , then This is <u>Axiom</u> in textbook • Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω are two events in a sample space Ω . Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω . Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω . Proposition: If <u>A</u> are two events in a sample space Ω . Proposition: If <u>A</u> are two events in a sample space Ω . Proposition: If <u>A</u> are two events in a sample	
Proposition: If <u>A</u> is an event in a sample space Ω , then This is Axiom 1 in textbook • Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proof. $A \cup B = I \cup I \cup II$ and I. II., III mutually exclusive Proof. $A \cup B = I \cup I \cup II$ and I. II., III mutually exclusive P(AUB) = $P(I) + P(II)$ P(B) = $P(I) + P(II)$ P(ADB) = $P(I)$ P(ADB) = $P(I)$	
Proposition: If <u>A</u> is an event in a sample space Ω , then This is Axiom 1 in textbook • Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω . Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω . Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω . Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω . Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω . Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω . Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω . Proposition: If <u>A</u> and <u>B</u> are two events	
This is Axiom 1 in textbook • Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then Proof. AUB = $P(A) + P(B) - P(A \cap B)$	
• Proposition: If <u>A</u> and <u>B</u> are two events in a sample space Ω , then $P(AUB) \leq P(A) + P(B) = P(A) + P(B) - P(A \cap B)$. $P(AUB) \leq P(A \cup B) = P(A) + P(B) - P(A \cap B)$. P(AUB) = P(I) + P(II) + P(II) P(AUB) = P(I) + P(II) + P(II) P(B) = P(I) + P(II) + P(II) P(AUB) = P(I) + P(II) + P(II) P(AUB) = P(I) + P(II) + P(II)	
$\begin{array}{cccc} P(A \cup B) \leqslant P(\underline{A \cup B}) &= P(A) + P(B) - P(A \cap B). & & & & & & \\ Proof. & A \cup B &= I \cup I \cup II & and & & & \\ I. II. II. mutually exclusive \\ \hline & & & & \\ P(A \cup B) &= P(I) + P(II) + P(II) \\ \hline & & & & \\ P(B) &= P(I) + P(II) \\ \hline & & & \\ P(A \cap B) &= P(I) \end{array}$	
$\begin{array}{ccc} proof. & A \cup B = I \cup I \cup II & and \\ I, II, II & mutually exclusive \\ disjoint \\ codition \end{array} \begin{array}{c} P(A \cup B) = P(I) + P(II) + P(II) \\ p(A) = P(I) + p(II) \\ P(B) = P(I) + P(II) \\ p(A \cap B) = P(I) \end{array}$	
$\begin{array}{c} I, II, III mutually exclusive \\ \hline P(A \cup B) = P(I) + P(II) + P(II) \\ \hline D(A) = P(I) + P(II) \\ P(B) = P(I) + P(II) \\ \hline P(A \cap B) = P(I) \end{array}$	
• <u>Proposition</u> : If $\underline{A_1}, \underline{A_2}, \dots, \underline{A_n}$ are events in a sample space Ω , then	
$P(\underline{A_1 \cup \dots \cup A_n}) \le P(A_1) + \dots + P(A_n) \stackrel{\text{c.f.}}{\longleftrightarrow} \textcircled{2} \textcircled{4} \textcircled{4}$	
<u>proof</u> . $P((A_1 \cup \dots \cup A_{n-1}) \cup A_n) \leq \underline{P}(A_1 \cup \dots \cup A_{n-1}) + P(A_n)$	
$by \oplus f \in P(A_1 \cup \dots \cup A_{n-2}) + P(A_{n-1}) + P(A_n)$	

made by S.-W. Cheng (NTHU, Taiwan)

• Proposition (inclusion-exclusion identity): If $A_1, A_2,, A_n$ are $an^{p_1 3 \cdot 12}$	
$\begin{array}{c c} n \text{ events, let} \\ \hline n \text{ events, let} \\ \hline generalization of (4) \\ \hline \sigma_1 &= \sum_{i=1}^n P(A_i), \\ \hline \sigma_2 &= \sum_{1 \leq i < j \leq n} P(A_i \cap A_j), \\ \hline \end{array}$	Q: For an <u>outcome</u> w contained in <u>m</u> out of the <u>n</u> events, how many <u>times</u> is its probability $\underline{p}(w)$ <u>repetitively counted</u> in $\underline{\sigma}_1, \dots, \underline{\sigma}_n$? An intuitive proof for discrete Ω : For $\omega \in \Omega$,
$\sigma_3 = \sum P(A_i \cap A_j \cap A_j)$	$A_k),$ p(w) counted m times in σ_1
($\frac{n}{3}$) different {i.j.k} $\frac{1 \le i < j < k \le n}{2}$	$:: \binom{m}{2} :: \mathfrak{S}_2$
=	
$\sigma_k = \sum_{\substack{1 \le i_1 < \dots < i_k \le n \\ \{i_1, \dots, i_k\}}} P(A_{i_1} \cap \cdots$	$ \underbrace{(\overset{\frown}{k})}_{i_k} \underbrace{(\overset{\frown}{k})}_{i_k} \underbrace{(\overset{\frown}{k})}_{i_k} \underbrace{(\overset{\frown}{m})}_{i_k} \underbrace{(\overset{\frown}{m}$
	$ \begin{array}{c} \hline -\binom{m}{0} + \binom{m}{1} - \binom{m}{2} + \binom{m}{3} - \dots \\ + \binom{-1}{k+1}\binom{m}{k} + \dots \\ + \binom{-1}{m+1}\binom{m}{m} = 0 (LN_{P}, 2-7) \end{array} $
$P(\underline{A_1 \cup \dots \cup A_n}) = \sigma_1 - \sigma_2 + \sigma_3 - \sigma_3 - \sigma_2 + \sigma_3 - $	$\cdots + (-1)^{k+1}\sigma_k + \cdots + (-1)^{n+1}\sigma_n.$